D.A.V. MODEL SCHOOL, KSTP, ASANSOL
HOLIDAY HOMEWORK WORKSHEET

SESSION 2024-2025
CLASS:V SUBJECT: ENGLISH
I. Read the following passage and answer the following questions:

A farmer had five sons. They were strong and hardworking. But they always
quarreled with one another. Sometimes, they even fought. The farmer wanted his
sons to stop quarreling and fighting. He wanted them to live in peace. Plain words
of advice or rebuke did not have much effect on those young people. The farmer
always thought about what to do to keep his children united. One day he found
the answer to his problem. So, he called all his sons together. He showed them a
bundle of sticks and said, “l want any of you to break these sticks without
separating them from the bundle.” Each of the five sons tried one by one. They
used their full strength and skill. But none of them could break the sticks. Then
the old man separated the sticks and gave them just a single stick to break. They
could break the stick easily. The farmer said, “A single stick by itself is weak. It is
strong as long as it is tied up in a bundle. Likewise, you will be strong if you are
united. You will be weak if you are divided.

A. Fillin the blanks with the correct word out of the given words.

Realized, knew, excellent, unity, peacefully, unite, strength

a. Unity is

b. The farmer wanted his sons to live

c. He always thought how to his sons.
d. One day, he got an idea.
e. The sons the importance of unity.

B. Read the following statements. Write ‘True’ if the statement is True and write
‘False’ if the statement is false.

a. The farmer was worried about his sons. ( )
b. The sons were weak but hardworking. ( )

c. The sons failed to break the bundle of sticks. ( )



d. The farmer was happy with his sons. ( )
e. The farmer always tried to make his sons united. ( )
f. The farmer’s sons obeyed him very much. ( )

Il. Write the meaning of the following words and also make a sentence with
the given word:

a. Awful-

b. Moaning-

c. Aghast-

d. Sarcastic-

e. Pandemonium-

lll. Answer the following questions:

a. Why do you think Tom did not like going to school? If you were Tom’s friend,
how would you counsel/convince him to attend the school regularly?

Ans.

b. Do you think Shankar or Pea had written the word ‘Tail’ on the blackboard? Give
a reason for your answer.

Ans.




D.A.V. MODEL SCHOOL, KSTP, ASANSOL
HOLIDAY HOMEWORK WORKSHEET

SESSION 2024-2025
CLASS:V SUBJECT: ENGLISH

I. Complete the sentences by using the abstract nouns provided in the help
box:

Darkness, childhood, inspiring, thirst, kindness

a. Her speech was extremely

b. Their eyes adjusted to the

c. Mother Teresa is known for her

d. | need water to quench my

e. He spent his in Paris.

Il. Encircle the abstract noun in the following sentences:
a. Lara had a great trust for the police officer.

b. The dove is a symbol of peace.

c. My grandmother is full of wisdom.

d. He takes pride in his job.

e. Mike shares lots of love with his family.



lll. Write a leave application to the principal for not attending school for two
days due to tooth ache.
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SUBJECT: MATHEMATICS CLASS: V
Name: Roll No: Section:
A. Multiple Choice Questions:

1. Which two numbers in the box below have a difference of 18?
167 |48]113 |85 | 130
()48, 67 (b) 113, 130 (c) 85, 130 (d) 67, 85.
2. Which of the following could be written as Six and a half Thousand?
(a) 6050, (b) 6500, (c) 6550, (d) 6000 .
3. A man wanted to use his calculator to subtract 984 from 2503. He entered 2303

— 984 by mistake. What could he do to correct his mistake?
(@) Add 2 , (b) Subtract2 , (c) Add 200 , (d) Subtract 200 .

4. 217 + 398 + 783 — 308 + 7 equals
(a) 1195 , (b) 1097 ,(c) 1083 ,(d) 997 .
5. 1f O represents ten, then given image represents how much?

9. 69 .

(a) 234 (b) 432 (c) 2340  (d) 4320.
B.Short answer type questions:
6. Divide 3,000 by 45 and check your answer.

7. Fill in the blanks :
(a) [LJ+45=0 ,(b) 56700+-1=01, (c)1111+11=0[1 , (d)468<=0[1 =1.
() 784+361+ = 426+ +784,




(f) 25495 + =25500, (g) 600 x =480000
8. Pick up seven digits from the bowl and make the smallest and the largest seven-
digit number.

9. Fill in the blanks.

Numeral Period Place Place Value

(@) 60,48,295

(b)9,08,768

(c) 45,69,34,027

(d) 89,65,40,543

10.CASE STUDY BASE QUESTION:

Lata and her grandfather went to a community library. In the library, there were 590099 books in
Hindi and 409900 books in English. Lata took one Hindi story book of the library and lost it.
Next day her grandfather donated 2 Hindi story book to the library. Based on above passage
answer the following questions:

a) How many total books were present in the library.

b) Write the total number of books in words following International Number system.

c) Write the expanded form for the number of Hindi Books.

d) Write the successor and predecessor of the given numbers of Hindi and English books.

e) When Lata’s grandfather donated the books, how many Hindi books were now in the library?
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SESSION: 2024-2025

SUBJECT: MATHEMATICS CLASS: vV
Name: Roll No: Section:
A. Multiple Choice Questions:
1. The number that is 100 less than 10000 is-

(2)Nine thousand , (b) Nine thousand nine hundred ,(c) Ten thousand nine hundred ,(d) Nine
thousand nine hundred and ninety .
2.95+95+95+95+95-93-93-93-93-93 =5 times |

The number that should be in the empty box is-

@2,({b)5,(c)93 ,(d)95 .
3. P, Q, Rand S are four 4-digit numbers, each having the digit 9 only once and in the place
shown. None of the other digits are known.

o 1 [ |

L [ [ [9]
What can be said with certainty about P, Q, R and S?

(@) S is the smallest of the 4 numbers. , (b) Q is larger than R ,(c) P is the largest of the
numbers.(d) S is the only odd number among the 4 numbers.

4. In which of the following numbers does the digit 1 have a place value of 10?
(&) Three thousand and one (b) One thousand two hundred and five,(c) Five thousand and nineteen
(d) Seven thousand one hundred and two.
5. 21 hundred, 35 tens, and 4 ones are equal to
(@)2139 ,(b)2454 , (c)21354 , (d)21390.
B. Short Answer Type Questions:
6. A dealer purchased 395 washing machines. If the cost of one washing machine is Rs.9,396, find the
cost of the purchased washing machines.



7. Match the following column:

Colunm -A Column -B
(i) 2 million = (2)2 millon
(i) 20 million= (b)20 million
(iii) 2 crore = (c)20 lakhs
(iv) 20 lakhs= (d)2 crore

8. During floods, 6,875 villagers became homeless. The government put up tents, each tent
housing 275 villagers. How many tents were put up?

9. In an election, the winning candidate got 6,28,496 votes and his rival got 4,56,298 votes. If 3,846 votes
were declared invalid. Then answer the following questions.

(i)What was the total number of votes polled?

(ii) How many more votes got the winning candidate than rival candidate.

10.CASE STUDY BASED QUESTION :
Given below are the land areas of the four largest countries of the world. study the list and
answer the question below.

Country Approximate area in Sq.km.
China 95,96,960

USA, 96,29,091

Russia 1,70,75,200

Canada 99,284,670

a) Which is the largest country in the above table?

b) What is the difference between the largest and smallest country in the above table?
c) What is the place value and face value of the digit 8 in the area of Canada?

d) What is the area of the smallest country in the above table?



DAV MODEL SCHOOL, KSTP, ASANSOL
SESSION 2024 - 25
HOLIDAY HOMEWORK
SUBJECT: SCIENCE

WORKSHEET 1
NAME CLASS SEC ROLL NO
Q1. Heart : circulatory system :: : nervous system
a) Lungs
b) Kidney
C) Bones
d) Brain

Q2. Spinal cord is a part of
a) Circulatory system
b) Nervous system
c) Digestive system
d) Urinary system
Q3. As a child you have about
a) 206
b) 400
c) 200
d) 306

Q4 and Q5 are Assertion Reason type guestions. Choose among the following options:-
A) BOTH Assertion & Reason are correct and Reason is the correct explanation of

the Assertion
B) BOTH Assertion & Reason are correct and Reason is the NOT the correct
explanation of the Assertion
C) Assertion is true but Reason is false
D) Assertion is false but Reason is true
Q4. Assertion (A): The body breaks down complex substances in food into smaller

components in the digestive system.

Reason (R): Breaking down of food into simpler substances helps in easy and efficient

absorption of nutrients.




Q5. Assertion :Organ-system is the system in which several organs work together for the same

function, e.g., digestion, circulation and respiration.

Reason: The organ-system helps in efficient working of the body.

Q6. What is a bone , and how many bones are there in the adult human body ?

Q7. What do you understand by the terms “inhalation” and “exhalation” ?

Q8.Name the main parts of the skeletal system and their functions ?




Q9. The adult human skeleton is made up of 206 bones. These include the bones of
the skull, spine (vertebrae), ribs, arms and legs. Bones are made of connective tissue
reinforced with calcium and specialised bone cells. Most bones also contain bone

marrow, where blood cells are made.

Bones work with muscles and joints to hold our body together and support freedom
of movement. This is called the musculoskeletal system. The skeleton supports and
shapes the body and protects delicate internal organs such as the brain, heart and
lungs.

Bones contain most of our body’s calcium supply. The body is constantly building up
and breaking down bone tissue as required. Healthy bone needs a balanced diet,

regular weight-bearing exercise and the right levels of various hormones.
1.Which of the following statements is true regarding skeletal system

a) Bones are rigid immovable.
b) Bones provide a framework for the body and protect of b;lood cells
¢) The skeletal system is not involved in formation blood cells

d) Bones do not store minerals like calcium and phosphorus.

2.How many bones are there in our skull ?

a) 33
b) 37
c) 42

d 9

3.How many bones are there in our rib cage ?



1) 12 pairs
2) 24 pairs
3) 6 pairs
4) 4 pairs

Q10. Draw a neat and well labeled diagram of digestive system ?



DAV MODEL SCHOOL, KSTP, ASANSOL
SESSION: 2024-2025

WORKSHEET -1
SUBJECT: SOCIAL SCIENCE (CH: 1,2,3)

NAME: ROLL NO: SECTION:

1. Choose the correct option.

i. The first learning place of a child is----
a. Family

b. Country

c. Neighbourhood

d. School

CLASS: V
(1)

ii. People were unable to travel abroad in olden times due to

Myths

Lack of money

Lack of transportation
Lack of energy

o0 o

iii. The number of Bhimbetka rock shelters is

700
900
7000
1200

oo o

iv. Houses having sloping roofs are found in

Plains

Hilly regions

Coastal regions
Earthquake prone areas

o0 o

v. Stilt houses are made of
a. Mud
b. Bamboo

¢. wood



(2)
d. Bothbandc

2. Fill in the blanks.

a. The family system works like a

b. Animals migrate with change in

c. Bhimbetka rock are in Madhya Pradesh.

d. In cities flats are common because of land and many
people.

e. Many migrants start when they do not get any work.

3. List two qualities that you admire in your mother/ father.

4. What is Shifting Agriculture?

5. Name the two types of forced migration.

6. Give two advantages of high-rise apartments.

7. What do you mean by the term migration?




©)

8. What is the importance of a family?

9. Briefly describe the three types of migration.

10. Migration brings happiness to many people. Explain with example.

11. On the political map of India, locate, label and colour the following.
a. A state where houseboats are used.

b. One state situated along the Arabian Sea.






DAV MODEL SCHOOL, KSTP, ASANSOL
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WORKSHEET -2
SUBJECT: SOCIAL SCIENCE (CH: 1,2,3) CLASS: VvV
NAME: ROLL NO: SECTION: (1)

1. Choose the correct option.
i. Langar is a

a. community feast

b. community dance

C. music

d. all of them

ii. The earliest form of shelter was

a. hut
b. cave
c. flats
d. water bodies

iii. The volume of radio at night should be kept
high
low

none of these
all of these

oo o

iv. The houses have flat roofs in

Kashmir
Manipur
Rajasthan
Bothaand b

o0 o

v. Neighbourhood Watch Plan is a wonderful way of
a. crime prevention
b. ensuring safety

c. Bothaand b



)

. None of these

. Fill in the blanks.

. Stilt houses protect the from wild animals.

. We can organise pool with neighbours.

. In 2014, valley devastated by floods.

. Each family follows certain customs and

. All family members must participate in family

. Name two things that changed the orthodox thinking of people.

. What is Neighbourhood Watch Plan?

. What are the walls of huts made of in villages?

. Give two advantages of Stilt houses.

. Why does praise by family members make you happy?

(3)



8. List three hardships that the migrants face.

9. What facilities are needed by people in case of disaster?

10. Draw and label two types of houses.

11. On the political map of India, locate, label and colour the following.
a. State where Bhimbetka caves are located.

b. One group of islands.

(4)
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